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COZz Block 4
Due: 11:59pm on Friday, October 1, 2010

Note: You will receive no credit for late submissions. To learn more, read your instructor's Gradine Palicv

[ Brint ]
Switch to Standard Assignment View

COZ Block 4 - Problem 1

The bricks on top of the beam and the supports at the bottom create the distributed loading shown
in the second figure. :

Part A

Determine the required intensity @ and dimension @ of the right support so that the resultant
force and couple moment about point A of the system are both zero.

Express your answer with the appropriate units.

ANSWER: W = Answer not displayed

Part B

Express your answer with the appropriate units.

ANSWER: @ = Answer not displayed

COZ Block 4 - Problem 2

Replace the loading by an equivalent resultant force and couple moment at point B

Part A

Determine the direction of the force.

Express your answer with the appropriate units.
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ANSWER: # = Answer not displayed clockwise from the direction to the right

Part B
Determine the magnitude of the moment.

Express your answer with the appropriate units.

ANSWER: Mgy = Answer not displayed

COZ Block 4 - Problem 3

Part A

If @ = 100 mm and b = 6 mm_ |ocate the centroid ¥ of the area.

Express your answer with the
appropriate units.

ANSWER: ¥ = Answer not displayed
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COZ Block 4 - Problem 4

Part A

Ei:ZI]],

Express your answer with the
appropriate units.

h

Determine the moment of inertia of the area about the ¥ axis. Set f(z) = 2 — 0.254* , U] Brint ]

ANSWER: fy = Answer not displayed

COZ Block 4 - Problem 5

Part A

Determine the moment of inertia of the composite area about the ¥ axis. Set @ = 430 mm, b
=220 mm, h =130 mm, r = 85 mm,

Express your answer with the
appropriate units.

i

ANSWER: I: = Answer not displayed

COZ Block 4 - Problem 6
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Part A

Locate the centroid # of the composite area. Set % = 170 mm, b = 410 mm, d = 40 mm_ h

= 230 mum,
. [ Brint ]
Express your answer with the ;
appropriate units. i
h
n"{
. b
{
b 1IN
|I'.
1 : ¥ iz
I I i 7] )
ANSWER:

¥ = Answer not displayed

Part B
Determine the moment of inertia of this area about the *’ axis.
Express your answer with the appropriate units.

ANSWER: I+ = Answer not displayed

COZ Block 4 - Problem 7

Consider the cross-section to be thin-walled with radius £ = 3 m and thickness t = 0.1 m

everywhere. Neglect the circular shape at end points of the horizontal beams. Note: the dimensions
@ and b are related to fi.

Part A

Determine the centroid ¥ for the fuselage's cross-sectional area.
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Express your answer with the appropriate units.

ANSWER: # = Answer not displayed

[mi;

Part B

Now find the moment of inertia about the centroidal x-axis fx.

Express your answer with the appropriate units.

ANSWER: 7
I: = Answer not displayed

COZ Block 4 - Problem 8

Part A

Determine the mass moment of inertia of the pendulum about an axis perpendicular to the page
and passing through point {2, The slender rod has a mass of 5 k& and the sphere has a mass of

24 kg,

Express your answer with the
appropriate units.

ANSWER: To = Answer not displayed

Score Summary:

Your score on this assignment is 0%.
You received 0 out of a possible total of 10 points.
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